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Read the following instructions carefully before you begin to answer the questions.

Important Instructions

. Immediately after commencement of the examination, check that the question booklet

does not have any unprinted or torn or missing pages or items. If so, get it replaced by a
complete question booklet.

The test booklet series must be marked in the OMR sheet as well as attendance sheet.

The question paper is in the form of a booklet. Each question is printed both in Hindi and
English. In all matters, the English version is final. Each question comprises four answers
i.e., (A), (B), (C) and (D). You will select the answer which you want to mark on the Answer
Sheet. In case you feel that there is more than one correct answer, mark the answer which you
consider the best. In any case, choose only one answer for each question.

Put your signature in the OMR answer sheet and the attendance sheet given by the invigilator.
Ensure that the invigilator has signed in your OMR answer sheet.

Use BLACK INK BALL POINT PEN ONLY and avoid gel pens and fountain pens for
filling the OMR answer sheet.

Darken the circle on the OMR answer sheet completely. Don’t use whiteners, tick mark or
any other mark and half-filled circle. ‘

No writing is permitted in the OMR answer sheet other than in the permitted spaces.

Do not use the OMR answer sheet for doing any rough work. Space for rough work is appended
in the question booklet at the end.

Do not fold or mutilate or make any stray marks on the OMR answer sheet.

Each correct answer will carry ONE Mark. 0.33 mark will be deducted for each incorrect/wrong
answer.

Multiple answers for a question will be treated as WRONG ANSWER. Un-attempted question
will carry NO MARK.

No candidate shall be allowed to leave the Examination Hall till the completion of the
examination.



Ql

Which of the following is Vascular cryptogams?

fArAfaf@a # ¥ Sl a1 Hagelr heelte g2

A) | Gymnosperms B) | Angiosperms

Prereast SR

ﬂf Pteridophyte D) | Bryophyte

cREwrET STABIST

Q2 Which is the largest family of Monocots by number of species?
AT Y AT A AlAlhicd I Ta 937 TRAR @lsd 6T 82
A) | Arecaceae B) | Liliaceae
[gCarp) faforaries
\ Orchidaceae D) | Poaceae
s qrzdr
Q3 | Which one the following breeding method is NOT followed in cross pollinated crops?
HIE G Bl & Arafafla ysta faftry &1 arere sl a1 7 frar Jrar g2
A) | Mass Selection B) | Synthetic variety
HIE-T HiFeTSE Y
/P
Nﬁﬁ Pure line selection D) | Heterosis
Y @M g Feufaw
Q4 | Multi-locunar node is found in?
AE-NHIAR A8 F 91T ATAT 872
A) 'Neem AT B) | Teak &1
\.9( Nerium ARITH D) | Lotus &#er
Q5 | Which of the following are components of Phloem?

frfafaa # ¥+l a1 Fllvd & g 82

i) Phloem parenchyma
ii) Phloem fibre

iii) Companion cell

iv) Trachea

i) FATTH WNehlgAT
i)  FollUH BIgeT

i) Tl

iv) o o3

100 | +ii) + i) B) [ i) +ii) +iv)

C) | 1) +ii)only D) | All the above




Q6 | Which part / parts of the plants has / have Quiescent centre?
qitit & fore T / 19T 7 FarsdT el g2
i) Root
ii) Stem
iii) Flower
iv) Leaf
) T
i) T&&A
iii) P
o) Tl
Ng | i) only B) |ii) only
C) | i) +ii) +iii) D) | All the above
Q7 | Which of the following is the most common ovule found in 82% of Angiosperm family?
fArfaf@a # & &l a1 ga@ 3H 3HSER § S 82% TTAAEgd IRar & 9w Srar
& 4
M Anatropous B) | Orthotropous
TATecH ey
C) | Circinotropus D) | Amphitropous
aRAARTT lYr=sraier: ]
Q8 In plants, which of the following is responsible for “guttation”?
qieit &, eafaf@a 7 & i ar "guttation” & AT SFAeR &2
/
M Root Pressure B) | Fungal Infestation
b GG ThaTel HsheOT
C) | Photosynthesis D) | Osmosis
SeRTel HA HEAE
Q9 Which of the following is a “Man Made Vegetable”?
farafaf@a 7 & ia @ «Awe Affda gssir &2
A) | Chinese Carrot B) | Hakuran
Peanilkicr gTHT
J % Rutabaga D) | Rhubarb
Eacicif W3ee
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Q10

Which of the following type of light gives the greater resolution in the light
microscopy?

o & & Pl AT YA T2l ATSHITHIAT 7 30F A HF Thed SaT 82

A) | Blue B) | Green
1/_“‘—'" Y
J?f Ultraviolet D) | Infrared
Hegrardiee AT

Q11 | Which of the following plant / plants are used for deri/v'ing “Colchicine’ - which is used

for inducing polyploidy?

fArafafaa & & g 9iey / gief 1 suaier "wifafaf@a grca st & fao fear

ST & - TSRt 39T Glelcass Sl YR et & o far Srar g2

i) Colchicum autumnale

ii) Gloriosa superba

iii) Vinca rosea

iv) Calotropis gigantea

/

A) | (i) only BT | () + (i)

C) | (i) + (ii) + (iii) D) | All the above
Q12 | In which phase of mitosis, the “Spindle apparatus” is formed?

AR F 5T woT &, "FRIse IUaoT" 7T 87

A) | Telophase B) | Prophase

: SIEE)
y Metaphase D) | Anaphase
Ao AT

Q13 | Peroxisomes are involved in which type of reactions pertaining to plant photosynthesis?

"RIFHEFE" G TeawT ¥ Fefad fRE weR it gfafwanst & arfde

A) | Calvin Cycle : Glyoxylate Cycle
Fifedsd ASHA Feuiddec Asad
C) | Glycolytic Cycle D) | Bacterial Photosynthesis

TASHIfalceh Sl SHETo] GehTer HYANOT
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Q14 | The assumption of the expected results of the research is called.............. ?
Qier & 3afdra aRomAT framor Sy &gl AT 82
/
A) | Synopsis NBY” | Hypothesis
Rafaa Hrafafaw
C) | Pre-Thesis D) | Scoping
g Nfaw THITaT
Q15 | The increased performance of “Fi1 hybrid” over its parents is called?
39 ATAT-Far F IR " Fi gsfas” wazrg&nqa&harsrm%?
A) | Crossing over B) | Inbreeding
I 3R T otetel
C) | Dominance N ,Dj' Heterosis
| IHTT AT&TAAT
Q16 | Multiple effects of a single gene is known as?
"Tdh S F FS GHIE" & FT H FIT AT AT 82
A) | Polyploidy B) | Heteroploidy
P AL FTATTS
\V?f Pleiotropy D) | None of these .
hferrerdy = & FE A

Q17 | Plants adapted to growing in saline conditions, as in salt marsh, are called?
A% goleel A @R aRfEufaat # s & v ssfaa dtut #r Far Far
ST 82
A) | Mesophytes B) | Glycophytes
ARareEied TATSHIBISCH
‘% Halophytes D) | Hydrophytes
gelmrsied h3ihscH

QI8

Which of the fallowing facts of “Ozone” are correct?
i) It helps in protecting us from UV rays from the sun.
i) It acts as Green House Gas and brings Global Warming.

iii) Ground level Ozone is an air pollutant that is harmful to breath.
iv) It can sterilize the surface of fruits and vegetables.

"HSA" & RA a7 Hla @ w82
i) I8 & IS ¥ g ROl ¥ S9e & A AT gl

i) I8 NF 137 N F &7 & FF Frar § 3R sol"gd arfedeT aar g
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R | S

P

i) I35 oad A T I TGS ¢ S HE oA & fAv gifAsrs g
iv) g Welt 3R Ffesral f dag & ASEA FT Fohar B

P
A) | i) +ii) +iii) N i) + iii) + iv)
C) |i)+ii) +iv) D) | All the above

Q19 |In green alga, the cell wall is made up of which of the following?

g0 ot A, e Fr §ar FArfaf@d & ¥ fFa @ =i gicdr g2

i) Cellulose
i) Pectin
iii) Chitin
iv) Cutin
i) Aofers
i) 9fdest
iii) fAfest
iv) ifﬁ?f
i) + ii) B) | i)+ ii) +iii)
C) [i)+ii) +iv) D) | All the above
Q20 | Choose the appropriate matching terms
3ugad e o g
i) Cork cambium in root a) Collenchymatous
ii) Epidermis in dicot stem b) Casparian strips
iii) Endodermis c) Epithelial cells
iv) Hypodermis in dicot d) Pericycle
A) |i)-b); ii) —a); iii) — d); B) | i) —c¢); ii) — d); iii) —a); iv) — b)
iv) —c¢) -
C) |i)—d);ii)—a);iii))—b); i) —d); ii) — ¢); iii) — b); iv) — a)
iv) —¢)
Q21 | Which of the following statement(s) is/are correct:
AfefRaAaslaaTFaT T e /&
i) The entry of the pollen tube through the micropyle of the ovule is known as
“Porogamy”
ii) When the pollen tube enters through the integuments, it is called
“Chalazogamy”

iii) The process of fertilization in which the pollen tube penetrates to the embryo sac
is called “Mesogamy”

i) 3STHR & ATSHUSH & ATCTH & LT I & T I "GREHAT
i) & ®TH ST AT §) T IRIET T YOI & ATCTH A A HLcll 8, o 38
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i

"ATASAITH" T AT &
ii)  forsreret hr gfskar Sraet oxmeT @ oot & Yot 3 gaer X 7, 39 AGEEAT
gl ST §

Z

N4 | i) only B) | i) +ii) only

0

i) + ii) + iii) D) | None of the above

Q22

i)

ii
ii

i)

Which of the following statement (s) is/are correct:

AR aslaoFaaad g/ &

The plants need short days first and then followed by long days to flower are called
as “Short-Long day plants”.
) Short day plants flower when the night length falls below their critical photoperiod.
i) Long day plants flower when the night length exceeds their critical photoperiod

qtelt T g B At Y 3maegerdr g & 3R R o et e For & a1
"BIC-aie &1 & d T AT B

ST T &Y FaTg 37 AgcdqPl B § A fIRel & at oie fRe & iy
B g

i) o T F AN Gl ST T F 1S 3AF Agea T BITIIS F H S g ST

3

7z

i) only B) | i) +ii)only

9)

1) + ii) + iii) D) | None of the above

Q23

Choose the appropriate matching terms in cell cycle

Al Tk H 3UYFA Al e gol

i) Gi phase a) DNA content of the cell will be maximum

ii) G2 phase b) The cell actually divides

iii) S phase c¢) Cell does not replicate

iv) M phase d) RNA and proteins are produced

>

A)

i) —d); i) —c); i) —b);  {BY [ i) —c); ii) — d); iii) — a); iv) — b)

iv) —a)

©)

i) — b); ii) —¢); iii) — d); D) |i)—c¢); ii) —a); iii) — d); iv) — b)
iv) —a)

Q24

The sequence of steps involved in the construction of cDNA from mRNA is jumbled as
below:

mMA#cDNA%ﬁﬁwﬁanﬁawﬁwmsﬂﬁmm&
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) add G residues to the 3’ end

ii) bind oligo-dC & treat with DNA polymerase
i) bind oligo-dT& treat with reverse transcriptase
iv) digest with RNAse

Choose the correct sequence of steps involved in the construction of cDNA from mRNA
from the alternates given below

A1 f2T 71T fAshedl & mRNA & cDNA & fXATT # enfier =il &1 @6l A gol

A) | ii); iii); iv); 1) B) |iii); i); ii); iv)

iii); iv); 1); ii) D) | iv); ii); i); iii)

Q25

Which of the following is NOT a necessary assumption underlying the use of ANOVA
technique?

frafaf@a 7 & i @ ANOVA dehellsh & YA F foT U 1@ RO 8l
g2

i) the means of the population are equal.

ii) the populations are normally distributed.

iii)  the variances of the population are same.

iv) samples are independent and randomly selected.

i) STAEEAT & ATUS TATH 61

i) TS AT &9 & faala & I g1
iiil) STTHEAT & HEHIOT TATA & |

v) e T 3R AETow 9@ YA AT

N | i) only B) | i) +ii) only

C) | i) +ii) +iii) D) | None of the above

Q26

IfA=7/8:B=5/7;C=6/9 ;D =9/5, then, which of the following is correct?
TR A=7/8:B=5/7;C=6/9;D=9/5 R A=faf@a & & sla ar @& &2

A) >B>C>D B) ID>A>C>B

D>A>B>C D) |A>C>B>D

Q27

What is the value of 352.30 x 19.5 ?
& H{ed FT §; 352.30 X 19.5

6869.85 B) | 68698.5

C) |6869.75 D) |68697.5
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Q28

Which arithmetic operation instead of ‘?’ satisfies the given equation;

"7 " & TS Bl W HFAOAT IHoRe T a0 Folryor & Jse

&

2?73+4-5+6=11

A) 4+

B)

CAE D)

Q29

How many pieces of 75 cm length can

40.5

cmﬁﬁgﬁﬁcmm

F

be cut from a rod of 40.5 m long?

A)

33 \

e TS HIE ST FHhA g7
54

)

53

D) |56

Q30

What is the average of first 5 multiples of 5?

5% ggel 50Tl HT A FAT 52

A) |10 vsfls

C) |20 D) |25

Q31

What is the percentage expression of the ratio 3:5?

3: 5% e[t A gfaerd fdeafadd #ar g2

A) [0.6% B) [6.0%

PN

27 |60 %

D) | None of these

Q32

Lakshmi purchased 20 dozens of toy cars at the rate of Rs.375 per dozen. She sold each
one of them at the rate of Rs.33. what is her percentage profit?

e 20 goar f@Ar FRE & § .75 9fY g i g7 ¥ @ler| 3a 39
AIRAF F F 3 T T 87 3TehT gfaera o Far &2

A) [ 65% B (5.6 %

C) [3.5% D) |45%

Q33

A hair band marked at Rs.80 is sold for Rs.68. What is the rate of discount?
Rs.80 T RAEAT U AW 5 Rs.68 H a1 F1am §1 P $T &T F7 &2

A) | 12% \ 15%

C) [20% D) | None of these

Q34

The volume of a solid sphere is 38808cm>. The radius of the sphere is...... ?

U, ST &1 1 AT 38808 cm’ §1 877 T s g2

21 cm

&) B) | 22cm

C) [23cm D) |24 cm
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Q35

In a particular language, North is called Northeast, East is called Southeast, South is
called Southwest and so on; If a person starts walking towards North from South, then
turns 90 degrees to the left and walks further. He then turns to his right by 90 degrees.

Which direction is he facing?

T AV HI9T &, 3 T IAR-Y gl A1 §, T3 I faIoT-qd &gl Sl &, afaror
F1 gfEor-aRas Fgr Srar § 3R 3 avE; I Fig AfFa gfEror & 39T #r 3R
ToIAT YE HIAT §, A 90 3ol a1$ 3R Fgzar ¥ 3R 3w gerar g1 9% Y oo B &

3 AT 3R AT & | aE ot FerR T JIHAT X T &2

North 38X B) | Southwest &fayor afaH

C) | Southeast a‘i?fur-qg:‘r D) Eastqﬁ

Q36

Statements are given followed by three conclusions. You have to consider the

statements to be true even if they seem to be at variance from commonly known facts.
You have to decide which of the given conclusions, if any, follow from the given

statements.

A st & a1¢ FU T AT & | IR SATAT Y T AT ofT g1, HA 81
AR W ATT 24t A et gl | 39! Ig TF FAT 8191 o U arw saaAr A &

Hie ar fasawy, afe FIS &Y, 7 Ired HY|

Statements: ST

All the cars are bikes.
All the wheels are bikes.
Some doors are wheels.

Tl FX AEF & |
it afge a5 B
FO &arS IV §

Conclusions: forset:

I Some cars are wheels
il. Some bikes are cars
iii. Some bikes are doors
i) $o FR afgT

i) P AT FN
iii)  FOISH A &

Which of the above conclusions are correct?

IqAFT H § e a1 TSy TEr g
A) | Only (i) \B?/Only (ii) and (iii)
C) |Only (i) and (iii) D) | Only (iii)
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Q37

If JUPITER is coded as KTRGWBYV; then, URANUS can be coded as

e JUPITER & KTRGWBYV & &9 H HIf3d f&ar arar & T, URANUS &r
P FaT AT FFaTE

A) LVOBMVR B) | VSBOTT

VQCLXP D) | VSDKYP

Q38 | Find out: What is next in the series?
Tl Y AT H A F41 82
. 2,8, 30,3800t
pd
g 30 B) | 28
C) [38 D) |40
Q39 Solve: gel:
2745 2577
A) 21 B) |72
@r |24 D) |84
Q40 | A team consisting of scientists with specialisation in 3 different arena was formed to

survey a forest. The team is represented by the following figure.

U STt T TAGTOT il & FoIT 3 37eT9T-37e1eT &1 # QA =1ar arel danfas &
Ao v &\ 91S 918 o) & v wiafaftes fesfaf@a snepfa ganr fmar
ST gl

Entomologists

otanists

3\ 6
PR N

7

Pedologists

In the above figure which zone represents Entomologists who are also Pedologists with
no Botany background?

SRIF IMHTA # T 71 8T tSAITaee F gfafafes #tar § 3 faar aawafa
SR aTer USteltoree o 87

/
A |4 BT |5
C) |3 D) |6
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Q41

P, Q, R, S, T and U are sitting in a round table; not necessarily in the same order. The
round table has six chairs regularly placed around. It is known that;

P,Q,R, S, THX U U M AT H & §; TWY 18T o 34 A H gl T AT W
fraffa w7 @ o7 $EE §1 T8 A & &
It P is between S and U.

I1. R is opposite to S.
III. S and T are not on neighbouring chairs.

L HEP, SIARUF T
II. R, S. 1% [Auda gl
NL S 3R T ogrd HAaT w8

Which of the following must be true?

fafaf@a & @ sia a1 @ gar aifgw

A) | P is opposite to Q. B) | S is opposite to T.
P, Q & faudia &1 , T faada g

C) |R and Q are neighbours. Q and T are neighbours.

R 3R Q gardT £l Q 3R T U=k &

Q42

If ARGENTINA is coded as BTJISZPVJ; then, VENEZUELA can be coded as
If& ARGENTINA &Y BTJISZPVJ & &9 # FIfzd far 7ar §; T, VENEZUELA

F e FAaTITHSRATE

-
A) | WGQHEALTJ BT | WGQIEAKTJ

C) | WHQIEALTJ D) | WHQIEAKTJ

Q43

How many squares and triangles are there in the following figure?

FrTfa el 3 Rt aat 3T FaoT &2

XIXIX

A) | 25 triangles and 3 squares | B) | 28 triangle and 3 squares
25 Faior 3R 3 F9t 28 FyaptoT 3R 3 F4t

C) | 25 triangles and 5 squares \ 28 tfia\ngles and 5 squares
25 f3proT 3R 5 et 28 Fyaior 3T 5 a9
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Q44 | Which of the following statement (s) is/are correct:
FRRTddsaarraad /&
i) The plants need short days first and then followed by long days to flower are
called as “Short-Long day plants”.
ii) Short day plants flower when the night length falls below their critical
photoperiod.
iii) Long day plants flower when the night length exceeds their critical photoperiod.
i) ol S gge B @ Jraegear gidr @ AR A o e d@ o & a1
"BIe-ae et & Jier FgT AT B
ii) T U H TS 3eAh Ageaqor BIEIUS ¥ A IR & at o et & ol
B g
i) ST U Y SIS IeAF AgeaYOT BIRMIS & 3170 g1 A § o o ot &
Y Ford B
iv) 2
WM | i) only B) | i) +ii) only
C) |i)+ii) +iii) D) | None of the above
Q45 | Which among the following are Bio-control agents?
i) NPV
ii) Micromonospora
iii) BT
iv) Trichoderma viride
frafafea & @ o1 ve-Faau el 82
i) NPV
ii)
iii) BT
iv) Pl figs
A) | i) +ii) + iii) B) | ii)+iii) +iv)
C) i) +iii) +iv) All the above
Q46 | Identify the error
Many studies has been directed towards water use at the individual tree and stand level
-7
A) | Many studies ) has been directed
C) | towards water use D) | at the individual tree and stand levels
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Q47 | The manager instructed the employee that he ------- seek the manager’s permission
before going on leave
A) an B) | would
shall D) | Will
Q48 | Select the most appropriate synonym of the word ‘TENACITY”
A) | Respectful B) | Generosity
Determination D) | Laziness
Q49 | Select the most appropriate antonym of the word ‘CALLOUS’
sensitive B) | obscured
C) | mighty D) | Bizarre
Q50 | Which of the following words is misspelled
A) | Privilege B) | Liaison N
Recieve D) | Withhold
Q51 | Who was the founder of India’s first newspaper - ‘Bengal Gazette’?
IR & Ygol HWAN - 'S TSI 3 TEATISH et A?
A) | Henry Louis Vivian B) J S Buckingam
Derozio
James Augustus Hicky D) | Richard Johnston
Q52 | Where from the words ‘Satyameva Jayate’ found in the national emblem of India is
taken?
HRA & TSET Telieh & ITT S JTel 2eR VAR ST el § o1 S 2
A) | Rig veda 335 B | Atharva veda 3 3
C) | Sama veda ¥H aAg D) Yajur veda H@Taa'
Q53 | Which of the following statement(s) regarding tropical cyclone is/are NOT correct;

FsooTEfatT Tard F R & PeAfarad # ¥ Sl a1 FUT T E / TE A6 6

i)  The central circular region called the eye of the cyclone is characterized by
extreme weather condition with high wind speeds.
ii) . Tropical cyclones rotate in clockwise direction in the southern hemisphere.
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iii) Tropical cyclone weaken or dissipate after making landfall.
iv)  Smaller tropical cyclones are more prone to rapid intensification.

i) Thald HI HW@ ATHS FAT IRUT 8T FT 3TT gar ¥ a1y F TIT WA
Atga & Rufa fr [FAvar g

i) 3SUTRfeTHT Tshard aferof afteme # afgromact feam & gEa )

iii) AISWIeT TATA & STE; ISR LN TshaTd HHSNT IT el AT &

iyy BIC IUTHIETHT Tshard doit & digdr & forw 310 vaor g &
& | i) only B) | i) +ii)
C) | i)+ ii) +iii) D) | All the above

Q54 | Which is the largest river in India in terms of volume?

AfegH F AT F 7RI I TaQ T2 78 i dr

A) Indusﬁg B) Ganga 3791

o

\ﬂr Brahmaputra SEHTT D) | Godavari fMerafY

Q55 | Government of India recently announced rolling out of Sovereign Green Bonds for the
first time. The proceeds from which sale will be deposited in .......

R TIEHR o gTeT &1 H Ugell IR Alaed AT dies F T1gT [Fevoray 1 €iwor $r|
3T & fershr Jr&AT fr Jreafy

Consolidated Fund of B) | Green Climate Fund
India gRa Serarg fafy
HRAT FARRT A ’
C) | PM CARES Fund D) | Contingency Fund of India
dIUH HI F3 AR AT EHRAT e
Q56 | In the series, 1+4+7+10+...., how many terms has to be taken so that the sum equals
477
HE H, 1+4+7+10+...., Fraet 2eg gt € arfes Ae1 477 F S @Y
A) | 17 “ 18
C) (19 D) |20 - .

Q57 | A person who spends 62.5% of his income is able to save Rs 4500 per month. What is
his monthly expense?

U STTFd AT 3T HTT & 62.5% T T &, I8 I AR 4500 9 §91 & TeTH
¥ 3 AflS @I FaT
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”

LT | 7500 B) | 9000

C) | 10500 D) | 12000

Q58

In a examination, 34% of the students failed in Mathematics; 42% failed in English. If
20 % of the students failed in both the subjects, then, what is the percentage of students
who passed in both the subjects?

U TET H, 34% STF 0T # e @; 3 F 42% Qv afeg gt fawat &
20% ST fawar 18, Y, Q1A awat #F <ot st 1 ufaera = g2

44% B) | 56%
C) [72% D) [80%
Q59 | Adithya buys an article for Rs. 27.50 and sells it for Rs. 28.60. Find his gain percentage.
T &1 & AT v o @Wliear €1 27.50 3R 3& T9d H 99dr g1 28.60| 3HAT
AT i @it
4% B) | 6%
C) |8% D) | 10%
Q60 | Ziva can do a piece of work 20 days. Zara is 25% more efficient than Ziva. The number
of days taken by Zara to do the same piece of work will be?
fS¥aT 20 et T T U THST X WehlT & | STRT ST Y oIl H 25% HOF FHarel
| SIRT ZaRT U &1 1A XA & faw forde et fow arw &2
et
A) | 14 days \ub'r 16 days
C) |18 days D) |20 days
Q61 | He said “we had a productive meeting. Let’s call it a day.” What does the phrase ‘call it
a day’ mean?
A) | Had a wonderful meeting ‘Conclude the meeting
C) | Continue with the meeting | D) | Recall the highlights of the meeting
Q62 | Read the passage and answer the question that follows it

The promotion of agreements for farming produce is an extension of the strategy of
strengthening the process of monetization, whose primary objective is to de-risk
agriculture at various stages. Such agreement will enable scaling of investment by the
industry for production and processing of high-value agriculture produces and give a
fillip to exports. The framework will mitigate the risks for the farmers and enhance their
income.

Which one of the following statements best reflects the crux of the passage?
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A) | The agreement will help |B) | The framework between industry and farmers
industries and farmers in will ease the latter’s all woes and simultaneously
making a profit. enhance wellbeing.

C) | The framework will give a\ﬂ&The agreement will enhance farm produce and
fillip to the food food processing, and improve farmers’ plight.
processing industry.

Q63 | Convert the sentence to passive voice
The doctor advised the patient not to eat rice

A) | The patient was advised |B) | The patient has been advised not to eat rice by
by the doctor that he the doctor
should not eat rice

i y :
C) | The patient was advised NP | The patient was advised by the doctor not to eat
that he should not eat rice rice
by the doctor

Q64 | Which of the following is the best substitute for the phrase ‘one who knows everything’

A) | Omnipotent B) | Omnipresent
A
.

’9{ Omniscient D) | Omnifarious

Q65 | Convert the sentence to indirect speech
He said “I live in the city centre”

A) | He said he lives in the B) | He said he had been living in the city centre
city centre

He said he lived in the city | D) | He said he has been living in the city centre
centre

Q66 | ‘Windfall Tax’ is ....?

fswia daa ¢..12 a
A) | Tax levied on renewable | Tax levied on businesses experiencing
energy consumption extraordinary profits

ANFONT FAT @I W JTHTEIROT SI13Y T 3737 A dTel SAGHTAT TN
AT AT T JAIMAT AT




i

©)

Tax levied on non- D) | Tax levied to bring zero-tax paying companies
renewable energy into the ambit of income tax
consumption T & T H Y- ST e ATl

I-srhrhroia St @ St @ oy & fare sremar /T
ORI AT T

Q67

Read the following statements regarding the payment systems of the Reserve Bank of
India (RBI):

HR Retd S (RBI) &1 $79TaTes gonfordt & Haer 7 frfaf@d Fue 9¢:

i) Real-Time Gross Settlements (RTGS) is primarily meant for large value
transactions and the minimum amount to be remitted through RTGS is Rs.2 lacs.

ii) Even a person who does not have a bank account can remit funds through
National Electronic Funds Transfer (NEFT) to a beneficiary having a bank
account, with another NEFT member bank.

iii) Real-Time Gross Settlements (RTGS) transactions are processed in batches and
hence there might be a slight delay for the actual transfer to take place.

i) Wﬁﬁmmm(meﬁaéwmﬁm
¥ 3R IRESTE & AT F AR Y A drell FgATH ARAF 2
gl g

i) Tal o  vE afda forwd g A @idT AT §, 98 TS Foagieidh Bs
TIAET (TASTHEY) & ATCTH W Teh arsireft &l e @rar 1@ arel Teh
HeT TASURST HET o o TTY O A AT 8

iii) ATEATa® THYT Tehel ST (HIRESITH) ST S df H Haed fRar
e & 31 zafae areafas gEaiaror & fow 298 &8 8 sl B

Which of the above statements is/are correct?

ST A A RT AT HAT TET 8/ 82
P
Ay i) and ii) only B) | ii)only
C) |i) and iii) only D) | All the above
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Q68

India’s first national repository for life sciences data — The Indian Biological Data
Centre (IBDC) was recently established by the Government of India. Where this IBDC
is located?

R &1 YgalT TSI Shiaet faaaret 32T & fv 83 - IR sifds 221§ (IBDO)
BT &1 7 ¥R TR GarT T fohar aram 47| I8 IBDC Fgl [oud &2

A) | Ahmadabad, Gujarat B) hennai, Tamil Nadu

C) | Dehradun, Uttarakhand | Faridabad, Haryana

Q69

‘Red Line Campaign’ of the Union Ministry of Health and Family Welfare is related to
which of the following?

FET TR IR IRER FeAT0T HAST FT 3 e WP Refaf@a

A) | Monkeypox \ Antimicrobial resistance

C) [Covid 19 D) | HIV — AIDS

Q70

Under ‘Universal Immunisation programme (UIP)’, Government provides free of cost
vaccine against which of the following diseases?

, FfAade 3FgATS e SiaH (TS F dEd, TR feAfaf@d & & g e
& TR fo¥: e AT eTet &l 87
(i)Japanese Encephalitis
(ii)Measles
(iii)Polio
(iv)Hepatitis A

A) L.(1), (ii) and (iv) only B) (ii) and (iv) only

(i), (ii) and (iii) only D) | (i), (i), (iii) and (iv) only

Q71

Out of the following Newton’s Laws, which of these principle (s) is / are required to
launch the rockets?

rfaf@d e & AaAT 7 @, et F dieg Fa F Rusad T ar

fReeria (3ih) Hr smaegesard?
)] Newton’s 2™ law of motion
ii) Newton’s 3 law of motion

iii)  Newton’s law of gravitation
iv) law of conservation of linear momentum

A) L) + i) B) | i)+ iii)

ii) +iv) D) |1)+iv)

Q72

Which of the following fact (s) is / are correct with respect to “Concave lens”:
ffaf@a & 3 e wraw “Iaaa du FFaw A /T &
i) It is thinner in the middle than at edges. ¢
ii) Itis a converging lens.
iii) It produces virtual images.
iv) It is used to treat myopia.




) Ig fReIRT & Jorear # & & g g

ii) Ig U HTAEIOT T &

iii) g T T AR FIAT B

iv) SHET 3T AT & geirsl & farw fovar Srar &

A) | i) +ii) + iii) \ i) + iii) + iv)

C) | i) + iii) + iv) D) i) + ii) + iv)

Q73

In a queue, Alex is 11" from the front and Bob is 23" from the end. Charlie is standing
exactly in between Alex and Bob. Also, Alex is standing ahead of Bob. If there are 53
persons in the queue, then how many persons are standing between Charlie and Alex?

U FdR &, Todd A T 11 & 3T a7 379 A 23 § TAH W g1 Tl Toldd 3R
aﬁ%@vﬁ;m@gh%m,mﬁmﬁaé:ﬁm%mﬁmﬁﬁ
=gfaa &, ar arer 3R voed & N s safea @S &2

A) | 8 B9

C) |10 D) |11

Q74

—
Adhvik travelled froni™iis house to the bus stop at the rate of 25 kmph and walked back
at the rate of 4 kmph. If the whole journey took 5 hours 48 minutes; then, what is the
distance of the bus stop from his house?

37erfaen o 370 TR & 25 foReT ufy ¢ i & & a8 T des a1 AR 4 e afa
HE HT X ¥ arqd To 0| Afe AT A 5 69 48 fRere o9 R, 3Eh WA I
T & g T 87

A) L,10 km B) 15 km

20 km D) |25 km

Q75

If the radius of a circle is decreased by 50%; then, what will be the percentage decrease
in its area?

I TRl gar 1 =T 50% e Y STl 8; TR, saeh a1 A gfdera <hr st a/am
gt

A) | 10% B) | 25%

C) [50% 75%

Q76

A bus travels the first one-third of a certain distance with a speed of 10 kmph; the next
one-third distance with a speed of 20 kmph; the last one-third distance with a speed of
60 kmph. What is the average speed of the bus for the whole journey?

w79 10 el iy 68 Y 71 & T v AfRaa g & dger vah-fagrs & amr
FTAT &; 20 e 9fey g & 1y & |re 3Tel ven fagrs gl; 60 fanedt wfer e
a1ty & @ it veh foaers vl g I & fow s & sitvwd arfay /= &2

.
A) | 15km K 18 km
C) [20km D) [24 km
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Q77

A sum of money amounts to Rs. 9800 after 5 years and Rs.12005 after 8 years at the
same rate of simple interest. What is the rate of interest per annum?

9 1 T Hr i) 5 FTT & 1€ 9800 3R WTROT AT Y U &Y &7 9 8 Tl
a1 Rs.12005 | 9fa a¥ sarar frex Far g

A) in5% B) | 8%

12% D) | 15%

Q78

The average of ten numbers is 7. If each number is multiplied by 12; then, what is the
average of the new set of numbers?

& FEATHt &1 3T 7. 81 I I AF FE&Ar 12 & on i Sl §; W, seansit &
AT AT 1 3Hrad FAT 52

A) [ 19 B)

C) |65 84

Q79

Study the pie chart and answer the question that follows it.
qléaﬁmmﬁmmmammésﬂmmm%l

¢ proteins ®lother dryelements [Swater

proteins 8

What will be the quantity of of water in the body of a person weighing 50 kg ?
50 forell astet arel SafeFd & AT F TT=ir Y AT fha=r grefr?

A) | 20 kg 35kg

C) |41kg D) [50 kg

Q80

Which of the following are the applications of “Doppler effect”?

fAefaf@a & & Sl a1 "sioer werma" & e &2

i) To measure the speed of a train.
ii) Tracking the location of the man-made satellite.

iii) Tracking the speed and location of the aeroplane.
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iv) Determining the speed of submarine.

T i AT A
i)y AT AAT 3EE & T 9 AT @]
iii)y gars STgTer 1 arfa 3R T I AR 3@
iv)  OeTgedl & ATty feiRor|

A) | i)+ ii) + iii) B) L i) + iii) + iv)

C) |ii) +iii) +iv) All the above

Q81 | Match the following radio isotopes for their medical application:

319 FIfpcar 3mdea & v Prafaf@a WA snsae & fAe i

i) Na* a) to treat skin cancer / @dT $HE FT Fellol el & AT

i) 17! b) to diagnose anaemia / TATTHAT T fAGTeT AT

iii) Co® ¢) for function of heart / &l & & fow

iv) Fe” d) to cure Thyroid disease / ATIRTSS QT Y S LA & faw

A) | i)—Db); ii) —c); iii) —d); B) | i)—d);ii)—a);iii)—b); iv) —c¢)

i) —a)
\%— c);ii) —d);iii)—a); | D) |i)—d);ii)—c); iii) - b); iv) —a)
iv) - b)

Q82 | Match the following ore with its formula:

=% g & T ATl 3 &l A FX

i) Bauxite a) Fe203

ii) Malachite b) MgC03.CaCO3
iii) Dolomite ¢) Cu2CO3 (OH),
iv) Haematite d) ALO 2H,O

A) | i)=b); ii) —c); iii) — d); B) | i)—d);ii)—a);iii)—b); iv) —c¢)
iv) —a)

C) |i)—c);ii)—d);iii))—a); N i) —d); ii) — ¢); iii) — b); iv) — a)
iv) —b)
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Q83 | Match the pH with the following items:
fArfaf@a At & arer pH &1 B i

i) Pure water a) 1.0
ii) Stomach acid | b) 5.0
iii) Fresh milk ¢) 9.0
iv) Baking Soda |d) 7.0

4
A) | )=Db);ii)—c); i) —d); | i) — d); ii) — a); iii) — b); iv) — ¢)
4 iv) —a)
i)—d); ii) —a); i) —b); | D) |i)—c); ii) —d); iii) - a);
iv) —¢) iv) —b)

Q84 | Which of the following species is the state tree of Tamil Nadu?

fArfaf@d # @ Fia @ yonfa affesrg & T gar 82

A) p Tectona grandis B) | Azadirachta indica
Borassus flabellifer D) | Ficus religiosa

Q85 | Arrange the following Green House Gases (GHGs) in the order of their Global
Warming Potential (GWP):

AT TSI AT &TAAT (GWP) & F & fAeafaf@a e g3w 34t (GHG) #r
SYTEAT

i) Methane (CH4)

ii) Carbon dioxide (CO»)

iii)  Nitrous oxide (N2O)

iv) Perfluorocarbons (PFCs)

-~

A) | iii) > iv) > ii) > 1) \B’r iv) > iii) > i) > ii)

C) [ii)>iv)>iii) > i) D) |ii) > 1) >iv) > iii)

Q86 | Among the following, what are all present in the “Chloroplast”?
AT & @, "FaRiceree # @i =21 Al 82

i) Stroma .
ii) Thylakoid

iii) Stroma lamella
iv) Chloroplast DNA

A) | i) +ii) + iii) B) | i)+ ii) +iv)

C) [ii) +iii) +iv) All the above
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Q87

In which family, “Diadelphous” stamens are found?

A) | Rutaceae B) | Malvaceae
BT Helargdr
27 | Papilionaceae D) | None of these

SfRfarT S A B A

Q88

Which of the following plant is most commonly used for obtaining drug for reducing
high blood pressure?

3T FAATT T FH F F o0 gar 9red Fia & fav Fafaf@a A a sla ar
gl Fad 31 39T fRar ST g2

A) | Aconitum napellus N Rauvolfia serpentina

C) | Centella asiatica D) | Solanum nigrum

Q89

Which of the following tree is cultivated for production of Agarwood?

39S F 3eare & fov feafaf@a & & fw 93 & @ r s &2

P
Aquilaria malaccensis B) | Pterocarpus dalbergioides
C) | Diospyros oocarpa D) | Vateria indica

Q90 | Which of the following cell organelles does NOT contain DNA?
fArfaf@a & & e a« 3 & DNA 787 giarg?
A) | Nucleus v—Br Lysosomes
CHEED TSHIEH
C) | Chloroplast D) | Mitochondria
FARICAE fAcifgar
Q91 | Which one of the following is NOT a mangrove species?
fArafaf@a & & i ar #Aaa ganfa 78 82
A) | Sonneratia alba B) | Bruguiera gymnorrhiza
C) | Avicennia alba N Canarium strictum
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Q92

The secondary wood of conifers that is compact and has narrow medullary rays is called
88....7

o B e oY it e 31 ot Fre R & 9 3 T ST
... .2

A) | Manoxylic wood B) | Monoxylic wood
AT o wehsr AATFafos oTahar
ﬂ' Pycnoxylic wood D) | Polyxylic wood

ATSHATTF AT Thar iferdifas s

Q93

In Cereals, which of the following disease is caused by manganese deficiency?

3Tt A, fArfi@d & @ @i dr At HAaredrsr Fr F7 & FRoT g &2

A) | dieback disease B) | brown heart disease
TS AT 3 g1C T
grey speck disease D) | white bud disease
HET S T e el 9T
Q94 | Among the following amino acids, arginine could have an ionic interaction with ....... ?
farafaf@a sehe oflis & &9, snfifas & a1y v snafas srada & asdr
€ o ?
A) | Lysine \ Glutamic acid
GIESEGH ToeTfA® Ul
C) | Valine D) | Methionine
CIED CIREIGE
Q95 | In Lac operon system, the operator gene is ‘turned on’ when lactose binds to ........... ?

LAC Operon System #, 3iToReX Sfiet &I are] fFam Siram & 19 et ... . Ea1
qirar g2

A) | Operator B) | promoter

o

M repressor D) | mRNA

Q96

Which among the following crop yields both oil and fibre of commerce?

fafaf@a vaa & @ la ar aa 3R R g aftey Far
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A) | Ricinus communis Linum usitatissimum
C) | Brassica juncea D) | Arachis hypogea
Q97 | The activity of one gene is suppressed by the activity of a non-allelic gene in ........ ?
T SheT & arfafafer s veh IR-velrer Sie dr arfafafey ganrr gar Rar Smar g ..., .2
~ Epistasis B) | Pseudo-dominance
C) |Incomplete dominance D) | Hypostasis
Q98 | For correction of defects in a popular variety, the most commonly employed breeding
method is...... ?
TS Al e # A & FUR & T, aed Hfes Fafsd gowe [y ...
A) | Pedigree method B) | Bulk method
-
Back cross method D) | Pure line method
Q99 |In gas chromatography, the components of the volatile material separate on the basis of
difference in their............. ?
I FPIACTITAT A, areaRiier TTHA F gTh 3o .......... H 37 & HTUR 9T 3790
gl &2
A) | conductivity B) | molecular weight
HoTfas HR
\27 | partition coefficients D) | molarity
ferrstet aqoTih HreTReEr
Q100 | The “Co-efficient of variation (CV)” of any population is calculated from...... ?

farelT ot STerereaT hr TR ST Tg-FHUT (CV)" T 01T

...... FHr g

A) | Mean and standard error Mean and standard deviation
Arey 3R A I ALY R A faTe
C) | Mean and variance D) | Mean and median
Arey iR =T AT AR AT

e e e o e e T e e T e Je e e e v e e e e o e e e e e e e e o o e e e o e ke o e e ke e e e e e e ke e e e e e e de e e e ke e e ek ek ke ke ek ek ke ok ke ko ke ke ke ko ke ok kk kkkok ok
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S T ATTHT T TE0T RAHT @I HT 7 Fgl JTC q I 7 @it
qteror QRaeT sIgEe

i P

9 AATADT T F&T oA G
(wTCfter iRt ST uE forar i)
T - 641002

TR TETaE Te & forg forfere o
foeis : 11 weadt 2023

w7 g

a97 : 180 fame qurts: 100

b 1 T s e i 2 B B e e A R s IR A S
it

. T I E1 % qId 918, 3T TH T RaT i T=ard saed w7 o 6 9w #rs f@Er g,

FeT IT T g I STaT e, fe 7 g 7f TAr , a7 o0 qat vF {Raswr ¥ a18 o

qeror qRaET AGFT F OALTHAR 9% & qrF-ar Iutedta wE # ot sifha T s
SR

w1 O QAT F T H 1 T34 w7 Bt o7 st 1 7 gor {1 @l wrwat #, st denor
£ =ifaw 81wl 7o ® 91 wea (399) A, B, C 3w D 3% 7w @1 397 & U Togm {7 o,
S8 arT ST-TAE 9 i FAT ATEd 81 A It vEr 9 % uw & st wogaw 99y |, av
IH TTL T sifhd L ST STy AATAH AN T AF TAT F U Fad T § TG AT B

4. et & g & T I TAF A JUTRATT THF H AT gEATEL F

7g gt w2 & Fdus 3 araht o oq. s 39 o3 1 gEare A g1

6. FFer HIC(T TATET ATH T TS U FT J TINT FL AL AL TH.HAR IAL T35 WA F T S 97

8.
9.

I B AT FT ITINT T FL

A TH.IAT I THF I NS T T T & FIAT HL| Y A Y T 3T sgrzeny, o arh ar
FE 7T R FT ITART 7 FX

A TH.T I TAF | SATHT AT 6 STATaT et o T 9 forae $it srqafa 781 81

freft off g Fr 1 F9 F U SALUH.R ST THF FT STANT T FL FY FH F 0 w0
&teror qfeast F o # faar @ )

10. 3. TH.AR ITX T9F HI g AT (3Fd 7 F:L 7 15 geue [ 7 a9
11. Te4 Fel I & (o1 U 3 Tl TedH Tdd I & forg 0.33 i Fre forg sro
12. T 77 & forw us & fers S9¢ 39 u% I/ Tod I AT AT Frs ft I A RA T I F

forT < siw g1 T s

13. TEverT G 2 e et oft sefeare i adte gie grea f sata T8
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